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Ajout (danslesb) Nom:
Résoudr e chacun des problemes.
1+1= 2+2=
2+1=_ 1+4=_
0+0=__ o+5=_
3+2=_ 0+2=__
3+0=_ 4+1=_
0+4=__ 2+0=_
0+3=_ 1+3=_
3+1=_ 2+3=_
0+1=_ 1+2=
1+0=_ 5+0=_
1+3=_ 4+40=__
2+0=__ o+1=__
0+4=__ 3+2=_
2+3=_ 2+1=_
0+0=__ 5+0=_
1+1=_ 1+0=_
2+2=__ 3+1=_
O+2=__ 0+5=_
1+4= 4+1=
1+2= 3+0=_
0+3=_ 1+2=
5+0=_ 1+1=
2+0=__ 3+0=_
3+1=_ o+4=_
4+0=__ 0+5=_
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Ajout (dansles 5) Nom: Clé
Résoudr e chacun des problemes.
1+1=_ 2 242=_4
2+1= 3 1+4= 5
0+0=_0 0+5=_ 5
3+2= 5 0+2= 2
3+0= 3 4+1= 5
0+4=_ 4 2+0=_2
0+3= 3 1+3= 4
3+1= 4 2+3=_ 5
0+1= 1 1+2= 3
1+40= 1 5+0= 5
1+43= 4 4+0= 4
2+0= 2 0+1= 1
0+4= 4 3+2= 5
2+3= 5 2+1= 3
0+0=_0 5+0=_ 5
1+1= 2 1+0= 1
2+2= 4 3+1= 4
0+2= 2 0+5= 5
1+44= 5 4+1= 5
1+2= 3 3+0=_ 3
0+3= 3 1+2= 3
5+0= 5 1+1= 2
2+0= 2 3+0= 3
3+1= 4 0+4= 4
4+0=_ 4 0+5=_5
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